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JIE 32 K4 g ouT IN GROSS
1 B i BZ Iz E45 O 38 36 74
2 FO B2 FREES L 37 37 74
3 KB g— ExXAIR 36 38 74
4 = EX FHEER 35 39 74
5 KE EE Ik B2 A B 40 36 76
6 WH B Ik B2k, 39 37 76
7 B Bz Iz E4E O 39 37 76
8 AN sk 37 39 76
9 XE 8= Ik B2k, 37 39 76
10 =1 #%H pr11B%] 38 39 77
11 T BRAE ELXAR 38 39 77
12 LA 3 IRz B2 [ e 40 38 78
13 T FE ELXAR 40 38 78
14 211 KM I B2 g O 38 40 78
15 JLig 7] A —FHEE 38 40 78
16 hE RB ED-1d 38 40 78
17 g & I 5| O 37 A1 78
18 B TEDK 42 37 79
19 AR gz £ B 40 39 79
20 Wil 1ga Iz B2k, 39 40 79
21 R F1T I Btk 38 41 79
22 BH BE Iz B2 B 44 36 80
23 = Iz E4E O 41 39 80
24 B2 ¥t I Btk 46 35 81
25 Nim B8 1L A 41 40 81
26 Rl 38k I BB FE O 40 A 81
27 EINNDE ESERE 39 42 81
28 xR BEE BHER 42 40 82
29 TH BT M=otk 41 41 82
30 HitE B I Btk 40 42 82
31 KR o BHER 36 46 82
32 BAAX £4% I Btk 44 39 83
33 BiE BR I & 3k 43 40 83
34 BE ¥£E TA)—5E 41 42 83
35 B EFTX BA 42 42 84
36 7l B ALl 42 42 84
37 ® BUE BR%ER 41 43 84
38 #H EE Bk 41 43 84
39  |AKIEL EAXIR 41 43 84
40 BMF #h=— 1%} 41 43 84
41 FH =tE ERRF 40 44 84
42 NEH = I Btk 38 46 84
43 HLE B— Bt 47 38 85
44 F)Il Z=BH HEARIE 46 39 85
45 % Bs BR%ER 45 40 85
46 aF BE EHXE 43 42 85
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47 ]BRK ZEX J1)—bILEE 43 42 85
48 EEH BEE FHEER 40 45 85
49 e H#HE Bk 47 39 86
50 &H FMiE e B[] % 44 42 86
51 *EH B2 I Btk 42 44 86
52 =i BZ Bt 47 40 87
53 a8 FA I Bt b 46 41 87
54 WK EX TA4) R 45 42 87
55 B2 &= Py 44 43 87
56 L3 B PFEHLT 44 43 87
57 ¥& B Iz BB A B 43 44 87
58 & A IRz B2 [E] &% 44 44 88
59 He Az S1)— b ILEE 44 44 88
60 =iE BE =0 43 45 88
61 hF HFE e 45 44 89
62 & B =<5 45 44 89
63 #H & el 43 46 89
64 FR X ) 47 43 90
65 W E2 Iz BB A B 45 45 90
66 ILE E# A& 44 46 90
67 Bk EZ E AR 43 49 92
68 myx F& e B[] % 44 51 95
69 lwE BEA BR%EE 47 49 96
70 b xT= IRz R ] &% 51 47 98
71 Fik BE L1951)—> 49 59 108
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Rim FHE OEH =0
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